AW 10l OF (WEGATIVE) CHiReE =) 077 G MOVES WITH VELOCITY v = (1077 + )O:‘://\Jm/s
THROVEH A PMACHINE THAT 1S CAPABLE oF FRIDUGNG A )-OT MAGNETIC FIELD
I8 THE T, [ AND ke DIRECTION. WHAT ISTHERORCE DN THE PARTICLE JE THE MACHINE /5
e ~ P — /P -2 /N
TURNED oV 7D prRooICE (a) B = 10T 07 (4) B = FOT ! (c) B=10T ) (d)Al
THREE OF (),(b) AND €) ARE ARPLIED AT ONCE § 1m ZACH CASE | SKETEH

THE DIFECTION OF ¥, B, VxB AND THE FORCE, F

I RV
(@) (&) AND () WRITE DOWN THE MATRIX FORMUATION FOR VxB= | Ve V, vy

Be By By

>

(&) DETERMINE THE COMpoNenTs OF v x & (id) MuLTirLy BY g TOFIND =gV x5 . WHAT
WAS THE POLARITY OF g5 WHAT ARE THE RELATIVE DIRECTIONS OF F App 7x 5 L

4 - - —~
(i) SKETCH THE DIRECTIONS OF V8, Vx& AND F BASED ON THEIR %, ], K COMPONENTS

(d)(c) YoU MAVE TWo CHOJCES, UERE . BOTH RIELDS AND FORCES OBEY SUPERPOSITION SO yo
vecToR sum!
Coved ErTnER FND THE(SUM OF THE FORCES You FoUND I FART'S @),4) AND &) OF YOU
4 ~ > -
CAN USE THE VECTOR SiroF 7E B-F1eD B=(1-0%+1-07+1-0k)T 70 FIND F=9Vx &
USING THE FORMALISM FROM PARTS @) ) ANDE) (i) AFTER SKETCHING V) &, Vx5 Aup
Fy JT SUOULD BE A USEFUL EXERCISE 70 ASK YOURSELE TUIS © WHY IS YOUR SKETCH FOR

THIS QUESTION (PART () SO SIM1L4R 70 YOUR SKETEH FoR PART €)
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